Z7E—=T7—I)LRAYTF2019 FET—IL

(19.10.1058)

7—IJLA HEH B wal =1 S| BA KR |BREAE|R—FRP| B=
1 BHA 3 3 0 0 9 87 41 +46 2 14
2 7AILZ VR 3 2 0 1 1 74 22 +52 3 1
3 Ay TR 3 2 0 1 13 98 27 +71 2 10
4 HEF 3 1 0 2 7 53 81 28 1 5
5 Oy 7 4 0 0 4 1 19 160 -141 0 0

7—ILB HEH | B V2N =] hSr#| B % | BemE |R—FZP| Bx
1 —a2—Y—5vR 4 3 1 0 22 157 22 +135 2 16
2 mr7Yn 4 3 0 1 27 185 36 +149 3 15
3 157 4 2 1 1 14 98 78 +20 2 12
4 FIET 3 0 0 3 3 34 175 -141 0 0
5 kst 3 0 0 3 2 14 177 -163 0 0

7—ILD Ha | B 5 B | rSUK| BA | KE |BEARE[R—FRP| X
1 v r—I)LX 3 3 0 0 12 101 56 +45 2 14
2 FA—-RAKZUF 3 2 0 1 16 109 60 +49 3 1
3 T4 — 4 1 0 3 17 110 108 +2 3 7
4 a—I7 3 1 0 2 8 74 95 -38 1 5
5 T TA 3 1 0 2 8 47 105 -58 0 4

RESN—F X2 b
REARBED
10H19H (£) 16:15KO KAAR—YREREHES
Z7—IJLCIfiL vs. F—)LD 2

R RBE@
108198 (&) 19:15KO BWRRY Y7L
T—ILBIfL vs. T—ILA2fI

HERREED
10H20H (H) 16:15KO KD AR—YRABEKEHRES
7—J)LD 1L vs. F—ILC2fiI

R RBED
108208 (H) 19:15KO HRRY Y7L
=LA 6L vs. T—ILB2{u





